Product Rule A

*
(x +2)%(x% + 1)?

5x*(33 — 6x)

*
2x%(3x2 + 1)?

*

5x*(7x — x?)

*

Gx+2)(2x+3)

*
Bx?2+4)2x+1)

*
(3x% + 4)3(2x% + 1)?

8x3(x?+ 1D (x*-1)

20x + 19

2+ 2)(x2 + 1)Bx - D (x - 1)

2(9x% + 3x + 4)

12x3(3x2 + 1)(Bx2 +x + 1)

(3x2 + 4)%(2x? + 1)(12x? + 18x + 25)

Sx* + 6x2% + 4x

*
(x%2+1)%(x? - 1)?

%

B +2)(x%2+2)




Product Rule B

*

(x(x + 1))2

V2x —1V2x + 2

2x(x +1)(2x + 1)

2x3(x +1)(3x + 2)

3(2x+ 1)

24/3x(x +1)




Product Rule C

*
SInxcosx

cos?x — sin’x

%

sin(x?)cos(x?)

*
e?*sin(2x)

%
[ 2e¥*(sin(2x) + cos(2x)) ]

[Zx(cosz(xz) — sin? (xz))] [ (cosx)(1 + cosx) — (sinx)(1 + sinx)]

* . cosx  sinxcosx
(1 + sinx)(1 + cosx) gsinx _ gsinx

[e"(e"cos(ex) + sin(e"))} [4cos(2x + 1)sin(2x + 1)]

*
e*sin(e*)
*
x3cosx 3x2cosx — x3sinx

%
cos?(2x+ 1)
.

[—4COS(2X + 1)sin(2x + 1)]

%k
sin?(2x + Dcos?(2x + 1)
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Product Rule A
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*
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*
S5x*(7x A7) 2(9x% +3x + 4)
*
(5x + 2)(2#+ 3) 12x DBx2+x+1)
*
(3x2% + 4)(23 (3x2 + 4)%(2x? + 1)(12x? + 18x + 25)
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Sx* + 6x2% + 4x
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(3x2% + 4)3(2x?

8x3(x? + D(x? - 1) * 3+ D)@ +2)
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Product Rule B
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2xf1 22— N\ VIx+2
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(x(x J_’L\)Z 2x(x +1)(2x + 1)
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Product Rule C

%

sin(x?)cos(x?)

e?*sin(2x) I

[ 2e*(sin(

s (/) ]

/

2x(cos?(xA)f- sin?(x?))

|

£ 3
(1 + sinx)(1 + cosx

[ex(e"cos(e") + sin(e"))]
o ‘

*
sinxcosx
cos?x — sin’x

*

x3cosx | |3xzcosx — x3sinx

*

Vs

cos?(2x+ 1)
N\
\

[—4605(276\1)Sin(zx + 1)]

%k
sin?(2x + Dcos?(2x + 1)

*
sin®*(2x + 1)

(cosx)(1 + gosx) — (sinx)(1 + sinx)J

cofx sinxcosx
e n7 esinx

[4(:0%11(% + 1)]




